Question 1: (1 points)
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Math Placement Sample

Factor: x*—16 into(x—4)(x +4)

2x 1

Rewrite: CEDCED — x—4)

Find LCD: (x — 4)(x + 4)

Multivle: 2x 1(x+4)
uttipte: x—-4)x+4) (x—-4Hx+4)
2x—x—4 G—41
Reduce:

x—D(x+4) (-2 1(x+4)

Answer:
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V10x V10x V100x2
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Reduce 6 and 10:

Answer:



Question 3: (1 points)
If 2x+2="5v+ 4 then v =

[ 3x—2 3x+2=5y+4
5 4 —4
3x—2 =05y
[ 5:»{3+2
Divide bv 5: 3x—-2 5y
- 1 ivide by 5: = =%
S
3x—2
[ _ 3="¢5—2 Answer: ==Y
2Xx+6
L S

Question 4: (1 points)

The positive root of the equation x* + 10 = 29 lies between

x*+10 =29
—10 —10
= 4and 5 x* =19
Take the Square of both sides: \/ﬁ = +v19
e 9and 10 x= +Vi9
C Gand 7 For positive Root: x = V19
Estimate V16 +v19 +/25

e land 2 4 VIo =
Ej 5and 6 Answer: V19 is between 4 and 5

Question 5: (1 points)
Use Trial and Error to factor (5x +1)(7x — 3)

One of the factors of =25 W —8x—3 is

L Tx+1
O 7x—3
L 7x+3
e Sox—1
L Sx—1



Question 6: (1 points)
Graph the equation -2 x — 2 ¥ =8
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Question 7: (1 points)
Graph v =x— 2|
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Question 8: (1 points)

if A = & — kx— 1 ang fl2)=—5 then k=
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Question 9: (1 points)
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Question 10: (1 points)

o0 noan

O

If, for all values of
-2
1
0
2

X, (x— k)2= o4 oox+ :x:z,then k=

(x —k)(x — k) = k* + 2x + x?
x% —xk —kx + k* = k*> + 2x + x*
x%? —2xk + k? = k? + 2x + x?
—x?2 —2x—Kk?® —Kk?>—-2x—x*

—2xk—2x=0
—2x(k+1)=0
k+1=0
-1 -1

k=-1



Question 11: (1 points)

If A% =x"+1and ax) =4 x+ 2, then fAK3E) =

L 10
e 140 Find h(3) =4(3)+2 =14
[ 4o f(h(3) =f(14) =14*+1
f(14) =196 + 1
L 15 f(14) = 197
[ 197
Question 12: (1 points)
The graph of the system of equations roey=l consists of
SXx+ By =23

o0 noan

O

Use addition elimination method: 3(x — 2y =

3x+6y=3
\)
3x—6y=3
3x+6y=3
6x 6

6 6
x=1
x—2y=1
1-2y=1
-1 -1
-2y 0
-2 -2
y=0
Intersectatx=1,y=0
two lines intersecting where v = 2.
one line.
two distinct parallel lines.
two lines intersecting where x = 2.

two lines intersecting where x = 1.

D



Question 13: (1 points)
If logmx =32, then x =

= 1,000
[ 1 logip x=3
1,000 Uselog,x =Yy
100 x = b’
x =103
L 10 x = 1000
=
ST

Question 14: (1 points)
In the figure shown below, if
sinfF) = 0.27 and p = 4, then

q:

[ 4037)
4
5
4

0.37
o

Insufficient information is
given to solve this problem.

Sin P = M SinP = p
hypotenuse q
0.37 4
1 q
0.37q =4
0.37q 4
0.37  0.37
4
Q=5



Question 15: (1 points)
Use Identity: sin (90° —0) = Cos 0

sin(90° — @) =
L zin(8)
= cos (6)
L —sin(g)
L 1+cos(8)
L —cos(6)

Question 16: (1 points)

For all real numbers COSEH x) + sinzl[il X) =

O 1
Lo ; ; ;2 2

Use identity: Sin“A+ Cos“A=1
e 2in(3 x) A=4x
[ 4 Cos? 4x + Sin*4x =1
e cos (8 )

Question 17: (1 points)
For which value(s) of xintheinterval 0 = x < Zzdoes (cos(x) — 1)(cos(x)—3)=07?

= Land 3 Set each factor to zero
e Cosx—1=0 Cosx—3=0
L
o +1 +1 +3 +3
Cosx =1 Cosx =3
L T
[ oand 2 x Cosx=1atx=0°and2n
s = Cos X = 3 is not possible because
L Eand o —1<cosx <1

Answer: {0,2m}



Question 18: (1 points)

Recall that for the triangle AE(C the law of cosines states that R cos()
where a is the length of the side opposite angle £, s the length of the side opposite
angle B, and cis the length of the side opposite angle .

In the triangle shown in the figure below, what is cos(F)?

Note: The figure is not drawn to scale.

Looking for P: p? =q*+1%—2qrcosP
P-4 Q=5 R=8
4* =52 + 82 -2(5)(8) cos P
16 =254+64—-80 cosP
16 =89 —-80 cos P
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Question 19: (1 points)
If Ax)=— 2"+ »° then A—1)=

=1
; 1 Replace x with — 1
2 f(=1) =-2"14 (-1)2
3 (-1) = —1+ 1
C - E f - 2
(—1) = 1 4 2
c -= JFD=—5+3
1
f-1) =2
c I 2

Question 20: (1 points)

1055[§J=

Uselog,x=y

x=DbY

1 (1 =

1_5y
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